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' 3
(TFrmreceive) (Treceive)
(TreceiveDm)
4.1.1 (TFrmreceive)

procedure TFrmreceive.add:;
var recvno : string;
begin

oveDataToclass;
freceivePD.setreceiveData(FreceiveData);
freceivePD.save(grow,recvno);
txtrecvno.text = recvno;
end;

4.1.2
(Treceive)

Function Treceive.save(row : integer; var recvNo : string) : boolean:
var FreceiveDMI :TreceiveDM;

FcompanyPD : Tcompany;

| . integer;

FstockPD : Tstock;



FstockData : Tstockdata;
| integer;
begin
result = false;
try
FreceiveDMI = TReceiveDm.Create(self);
FreceiveDMI.setReceiveData(fReceiveData);
FcompanyPD := Tcompany.Create(self);
FstockPD := Tstock.Create(self);
fstockData := TstockData.Create;

freceiveData.grecvNo := FcompanyPD.genrecvno;
recvNo ;= freceiveData.grecvNo;

FreceiveDMI .save(row);

FreceiveDMI.Free;

fori:= 1to row do

begin

tstockdata.gproduct := freceivedata.gRecvDetail
[1J.gProductld:;

fstockdata.gwarehouse :=

freceivedata.gwarehouse.gWarehiouseld ;
fstockpd.setstockData (tstockdata);
if fstockPd.find then
begin
tstockdata.gunit := tstockdata.gunit +
freceivedata.gRecvDetail[i].gunit;
fstockpd.setstockData (tstockdata);
fstockpd.update;
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end
else
begin
fstockdata.gunit := freceivedata.gRecvDetail[i].gunit;
fstockpd.setstockData (fstockdata);
fstockpd.save
end
end;
result = true;
except
end;
end;

413 (TreceiveDM)

function TreceiveDm.save(row: integer): boolean;
var . string;
| integer;
begin
result = false;
queryl := tQuery.Create(nil);
queryl .DatabaseName = dmGhl.dbThesis.DatabaseName;
queryl.sgl.Clear;
queryl ,sql.Add(insert into Receive values ();



queryl.sql.add("™ + FreceiveData.grecvNo
queryl.sql.Add('," + Freceiveliata.gRecvDD
queryl.sql.addC," + FreceiveData.gRecvmm +");
queryl.sql.addC," + FreceiveData.gRecvYy
queryl .sgl.addC," + FreceiveData.gsupplier.gsupplierld
queryl.sql.addC," + FreceiveData.gwarehouse.gWareFlouseld
queryl .sql.addC,"1+ FreceiveData.gStaffld
queryl.sql.addC," + FreceiveData.gSysDD
queryl.sql.addC," + FreceiveData.gSysMM
queryl .sgl.addC," + FreceiveData.gSysYy +"));
queryl .execsql;
queryl.sql.Clear;
queryl .sql.Add('delete from recvdetail ‘);
queryl.sgl.addC where recvno =" + FreceiveData.grecvNo
queryl.sql.Add('and recvYy =" + freceiveData.grecvYy
queryl .execsql;
fori;= 1to row do
begin
queryl .sql.Clear;
queryl.sql.Add('insert into recvDetail ',
queryl.sql.Add('select ™ + currtostr(
FreceiveData.gRecvDetail[i].gprice ) + ™),
queryl.sqgl.addC," + inttostr(FreceiveData.gRecvDetall
[Q.qunit) +);
queryl.sql.AddC," + FreceiveData.grecvno +");
queryl .sql.AddC," + FreceiveData.grecvYy +");
queryl.sql.add(',ref(dx) from product dx where dx.productld =
"+ FreceiveData.gRecvDetail[i].gproductld +");
queryl .execsql;



end;
queryl .close;
result := true;
end;

4.2
4.3
(TFrmInvoice)

(TInvoiceDm)
4.2.1

procedure TFrmlnvoice.add;

var recvno : string;

begin
moveDataToclass;
finvoicePD.setinvoiceData(FInvoiceData);
flnvoicePD.save(grow,recvno);
txtrecvno.text := recvno;

end;

3
(Unvoice)

72

(TFrmInvoice)
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4.2.2
(Tinvoice)

function Unvoice.save(row : integer; var recvNo : string) : boolean;
var FinvoiceDMI :TinvoiceDM;
FcompanyPD : Tcompany;
FstockPD : Tstock;
FstockData : Tstockdata;
| integer;
begin
result ;= false;
try
FReceiveDMI := TReceiveDm.Create(self);
FReceiveDMI .setReceiveData(fReceiveData);
FcompanyPD := Tcompany.Create(self);
FstockPD := Tstock.Create(self);
FstockData := TstockData.Create;
FreceiveData.grecvNo := FcompanyPD.genrecvno;
RecvNo := freceiveData.grecvNo;
FReceiveDMI .save(row);
FReceiveDMI.Free;
Fori:= 1to row do
begin
tstockdata.gproduct ;= freceivedata.gRecvDetail[i].gProductld;
tstockdata.gwarehouse := freceivedata.gwarehouse.gWareHouseld;
fstockpd.setstockData (tstockdata);
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if fstockPd.find then
begin
fstockdata.gunit := fstockdata.gunit + freceivedata.gRecvDetall
[i].quntt;
fstockpd.setstockData (fstockdata);
fstockpd.update;
end
else
begin

fstockdata.gunit := freceivedata.gRecvDetail[i].gunit;

fstockpd.setstockData (fstockdata);
fstockpd.save ;
end

end;

result := true;
except
end;
end;

423

function TinvoiceDm.save(row: integer): boolean;
var :string;

| - integer;
Begin

(TInvoiceDM)



result .= false;
queryl := tQuery.Create(nil);
queryl.DatabaseName := dmGhl.dbThesis.DatahaseName;
queryl .sql. Clear;
queryl ,sql.Add('insert into Invoice values ();
queryl.sql.add(™ + FinvoiceData.ginvNo +"");
queryl .sql.AddC,"1+ FnvoiceData.ginvDD +");
queryl.sgladd(," + FinvoiceData.ginvmm +"),
querylsgl.add(7" + FinvoiceData.ginvYy +");
queryl.sgl.add('," + FlnvoiceData.gcustomer.gCustid +");
queryl.sql.add(," + FinvoiceData.gwarehouse.gWareHouseld +");
querylsqladd(," + FinvoiceData.gStaffld +");
querylsql.add(7" + FlnvoiceData.gSysDD  +");
querylsqladd(," + FlnvoiceData.gSysMM +"');
queryl.sgladd(," + FinvoiceData.gSysYy +");
queryl .sql.add(," + FlnvoiceData.gSaleld
queryl .execsql;
queryl .sgl.Clear;
queryl .sql.Add('delete from invdetail )
queryl .sql.add( where invno = + FlnvoiceData.ginvNo +");
queryl .sqlAdd(‘and invYy =+ FlnvoiceData.ginvYy +"');
queryl .execsql;
fori:= 1to row do
begin

queryl .sql.Clear;

queryl.sql.Add('insert into invDetail ‘)

queryl sqlAdd('select + currtostr(FinvoiceData.gnvDetail

[j.gprice ) + " ;
queryl sql.add0," + inttostr(FinvoiceData.glnvDetail[i].gunit)
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queryl .sql.AddC," + FinvoiceData.ginvno
queryl.sql.AddC," + FinvoiceData.ginvYy
queryl .sql.add(',ref(dx) from product dx where dx.productld =
+ FlnvoiceData.ginvDetail[i].gproductld

queryl .execsql;

end;

queryl .close;

result .= true;

end;

43
4.4 3
(TFrmReturn) (TReturn)

(TReturnDm)
431 (TFrmReturn)

Procedure TFrmReturn.add;

Var recvno : string;

Begin

oveDataToclass;

fReturnPD.setRetumData (FRetumData);
fReturnPD.save(grow, recvno);
txtrecvno.text ;= recvno;

end;
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432
(TReturn)

Function Treturn.save(row : integer; var retNo : string) : boolean;
var FreturnDMI : TReturnDM;

FcompanyPD : TCompany;

FstockPD : Tstock;

FstockData : Tstockdata,

| integer;
begin
result ;= false;
try

FreturnDMI = TReturnDm.Create(self);

Freturn ML1seTRetumData(fReturnData);

FcompanyPD := TCompany.Create(self);

FstockPD := Tstock.Create(self);

FstockData := TstockData.Create;

FReturnData.gRetNo = FcompanyPD.genReturnNo;

retNo = fReturnData.gRetNo

FreturnDMI .save(row);

FreturnDMI .Free;

fori:= 1to row do

begin
fstockdata.gproduct := fReturndata.gretDetail[i].gProductld;
fstockdata.gwarehouse := fReturndata.gwarehouse.gWarePiouseld ;
fstockpd.setstockData (tstockdata);



If fstockPd.find then
begin

80

fstockdata.gunit ;= fstockdata.gunit- fReturndata.gretDetail[i].gunit;

fstockpd.setstockData (fstockdata);
fstockpd.update;
end
end;
result ;= true;
except
end;

433

function TReturnDm.save(row: integer): boolean;
var :string;
| integer;
begin
result .= false;
queryl := tQuery.Create(nil);
queryl.DatabaseName := dmGhl.dbThesis.DatabaseName;
queryl .sql.Clear;
queryl .sql.Add('insert into Return values ();
queryl.sql.add("™ + FreturnData.gretNo +"";
queryl .sql.Add(7" + FReturnData.gretDD +"");
queryl .sql.add('," + FReturnData.gretmm +"");

(TReturnDM)



queryl .sgl.addC," + FReturnData.gretYy

queryl.sgl.add(’," + FRetumData.gwarehouse.gWareHouseld

queryl.sgl.add(’," + FReturnData.gStaffld

queryl.sql.addC," + FRetumData.gSysDD

queryl .sql.addC," + FReturnData.gSysMM

queryl .sgl.addC,"1+ FRetumData.gSysYy

queryl.sql.addC," + FReturnData.gRecvNo

queryl .sgl.addC," + FReturnData.gRecvYy +"));

queryl .execsql:

queryl.sql.Clear;

queryl.sql.Add('delete from retdetail )

queryl.sgl.addC where retno = " + FRetumData.gretNo

queryl.sql.Add(‘'and retYy = " + FReturnData.gretYy

queryl .execsql;

for I:= 1to row do

begin
queryl .sgl.Clear;
queryl.sql.Add('insert into invDetail *);
queryl.sql.AddCselect " + currtostr(FreturnData.gretDetail[i].gprice ) + ");
queryl .sql.addC," + inttostr(FReturnData.gretDetail[i].gunit) +"");
queryl .sql.Add('," + FReturnData.gRetNo +"";
queryl .sql.Add('," + FReturnData.gRetYy +");
queryl.sql.add(',ref(dx) from product dx where dx.productld =" +

FReturnData.gretDetall[i]. gproductld +");

queryl .execsql;

end:
queryl .close;
result := true;

end:

81
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4.4
4.5
3
(TFrmCreditNote) (TCreditNote)
(TCreditNoteDm)
44.1 (TCreditNote)

procedure Tfrmcreditnote.add;

var recvno : string;

begin
moveDataToclass;
fereditPD.setcreditnoteData(FcreditData);
fcreditPD.save(xrow,recvno);

txtcrtno.text ;= recvno;
end;
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4.4.2
(TCreditNote)

Function Tcreditnote.save(row : integer; var retNo : string) : boolean;
var FcreditnoteDMI : TcreditnoteDM:;
FcompanyPD : TCompany;
FstockPD : Tstock;
FstockData : Tstockdata;
| integer;
begin
result ;= false;
try
FcreditnoteDMI = TereditnoteDm.Create(self);
FcreditnoteDMI.seTcreditnoteData(fcreditnoteData);
FCompanyPD := TCompany.Create(self);
FstockPD := Tstock.Create(self);
fstockData := TstockData.Create;
fcreditnoteData.gcrtNo .= FCompanyPD.gencreNo;
retNo := fcreditnoteData.gcrtNo;
FcreditnoteDMI .save(row);
FcreditnoteDMI .Free;
fori:= 1to row do
begin
fstockdata.gproduct := fcreditnotedata.gcrtDetail[i].gProductld:;
fstockdata.gwarehouse =
fereditnotedata.gwarehouse.gWarePlouseld ;
fstockdata.gwarehousetype =" 1
fstockpd.setstockData (tstockdata);
if fstockPd.find then
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begin
fstockdata.gunit := fstockdata.gunit +
fcreditnotedata.gcertDetail[i].gunit;
fstockpd.setstockData (fstockdata);
fstockpd.update;
end
end;
result := true;
except
end;
443 (TCreditNoteDM)

Function TcreditnoteDm.save(row: integer): boolean;

var :string;
| integer;
flag : string;
begin
flag = "N

queryl —tQuery.Create(nil);

queryl.DatabaseName := dmGhl.dbThesis.DatabaseName;
DmGhl.dbThesis.StartTransaction;

Try

queryl,sql. Clear;



queryl .sql.Add('insert into creditnote values ();

queryl.sql.add("™ + FcreditData.gcrtNo

queryl.sgl.AddC,"1+ FcreditData.gcrtDD

queryl .sgl.addO," + FcreditData.gcrtmm

queryl .sql.addC," + FcreditData.gertYy

queryl .sql.addC," + FcreditData.gcustomer.gcustomerld

queryl.sql.addC," + FcreditData.gwarehouse.gWareFlouseld

queryl.sql.addC,1 + FcreditData.gStaffld

queryl .sql.addC," + FcreditData.gSysDD

queryl.sql.addC,I + FcreditData.gSysMM

queryl.sgl.addC," + FereditData.gSysYy

queryl .sql.addC," + Flag

queryl .sgl.addC," + FcreditData.ginvNo

queryl .sgl.addC," + FcreditData.ginvYy +"));

queryl .execsql;

queryl .sql.Clear;

queryl.sql.Add('delete from credetail ;

queryl .sgl.addC where creno =" + FcreditData.gcrtNo

queryl,sql.Add(‘'and creYy = " + FcreditData.gertYy

queryl .execsql;

fori:= 1to row do

begin

queryl .sgl.Clear;
queryl.sql.Add('insert into creDetail ';
queryl,sql.Add('select ™ +
currtostr(FcreditData.gcrtDetail[i].gprice ) + ™),
queryl .sql.addC," + inttostr(FcreditData.gcrtDetail[i].gunit) +");
querylsgl.Add(," + FcreditData.gcRtNo +™);
queryl .sql.AddC," + FcreditData.gcRtYy +");



queryl.sql.add(',ref(dx) from product dx where dx.productld ="'
FcreditData.gcrtDetail[i].gproductld
queryl.execsql;
end;

dmGhl.dbThesis.commit;

except

dmGhl.dbThesis. Rollback;

end;

queryl .close;

result ;= true;

end;

4.5
4.6
3
(TFrmRegister) (TTelephonenumber)
(TTelephonenumberiim)
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45.1 1 ' (TFrmRegister)

procedure TFrmRegister.OkClick(Sender: TObject);

begin
movetotelephone(mrow,brow);
ftelephonePD.settelephoneData(Ftelephoneiiata);
ftelephonePD.settoregisterstatusO;
movetotelephonenumber(brow);
ftelephonenumberPD.settelephonenumberData
(FtelephonenumberData);
ftelephonenumberPD .settoregisterstatusO;
movetomcustomer,
fouyerPD.setbuyerData(FbuyerData);
fouyerPD.save

end;

4.5.2
(TTelephonenumber)

function TTelephonenumber.settoregisterstatus : boolean;
var FtelephonenumberDMI : TTelephonenumberDM;
begin;
FtelephonenumberDMI := TTelephonenumberDm.Create(self);
Ftelephonenumberdata.gstatus .= 'O’
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FtelephonenumberDMI .setTtelephonenumberData
(ftelephonenumberData);
FtelephonenumberDMI.setstatusO;
FtelephonenumberDMI .Free;

result := true:
end:

45.3 ' (Ttelephone
numberDm)

Function TTelephonenumberDm.setstatusO : boolean;
var  ptype :string;

X string;
Begin
ptype := B
queryl :=tQuery.Create(nil);
queryl .DatabaseName := dmGhl.dbThesis.DatabaseName;
queryl.sql.Clear;
queryl.sql.Add('update prodmobile set’);
queryl .sql.AddC warehousetype =+
Ftelephonenumberdata.gwarehousetype +™");
queryl .sql.AddC, warehouse =+
Ftelephonenumberdata.gwarehouse
queryl .sql.AddC, status =+
Ftelephonenumberdata.gstatus +");



queryl.sql.AddC where recvno =+ Ftelephonenumberdata.grecvno

queryl .sql.AddC and recvyy =+
Ftelephonenumberdata.grecvyy

queryl .sql.AddC and type =+ ptype

queryl.sql.AddC and serialno =+
Ftelephonenumberdata.gserialno

queryl .execsql;

queryl .close;

queryl .Free;

end;
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